94 G6 CH 10 WS 8 Mensuration

Mensuration: Worksheet -8

1. Sweety runs around a square park of side 75 m. Bulbul runs
around a rectangular Park with length 60 m and breadth 45 m. Who

covers less distance?

2. How many tiles whose length and breadth are 12 cm and 5 cm
respectively will be needed to fit in a rectangular region whose length

and breadth are respectively 100cm and 144 cm?

3. A square piece of land has each side equal to 150 m. If three layers
of metal wire are to be used to fence it, then what is the length of the

wire needed?
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